i

T yapi g

23600~ > KA BADKTIHSL S

e
\
~=h
(00]
o
o
3
Fr
i

S BA

3
0

ﬂ ¥ I ;lr'—:JE"f’J{%"z ﬁii{ :

(1) & i 4 ey o= 22 2T ‘f"ﬂf .

(2) A B A & ¢fe= 800 + 600 = 1400 =~ -

(3) @ 4 g T o= 2 = 7005

£ AR A SR TIBLT00R o

w2 T804 ~ FHFT 1854 ~ FF T 754 0 R =

(G RTS8 P

$ 1 Z AT HLEB0A -



&

s

TR AT

FR RS = NEEE EEr LV N 2 R

1 RA

I * T 3o K fRAE

- 2 Vg 2 . 12 —Z:Aﬁ,{%djﬁ”‘ffﬂg\'ﬂ
(1) = 5Bl | % & Ty 22T ITRA

\)

= X EEF ]

4
ol
=)
—h
in}
()
rii
m

m BAHTImEF L1700k 0 R R P A
RPN
L5 . 20

GMZ SR R 51024 -



T AR AL

e & 3. e Bl AT 5904 0 B iEe T kE ]
TR A g
R OI? - - RN R
(D) 73R T e e g [ Y ahped s B
S BT X BE A LA o
= A= sk N _
(2) 1945 Tw e | 4 d et o= EEITRIT g s
S g
90 ad
- = —
4
(3) fap- ~- 37 #
- x =360
b S HE ] R Y L3604 o
‘gﬁsus 1 v .\ 2z \1:5 ~ TN l]lﬁ;&mli’j,ﬁf]-é‘170/\l ,E‘%_FFBEE—,E Tﬁ‘%ﬁi.’rﬁ



&

Pz aRBAE PR TIIEE1007 0 F v T s A B AL

U TIE52007 o G T v e v @ T s AT BAL IR g

T 1Y &
Tima 70

w7

T yapi g

_ﬁp’_

«N ¥ I ;lr'—:JE"f’J{%"z ﬁ;,gg :

(1) 2N

(2) = »
(3 p >
(4) = -
(B) = o

[ 2
ﬁru\‘ﬂ‘%%ﬁlﬁ/k

z

Ry T
o

5

3 A &g afe=100%x2 =200~ -
s A Z AL g e=200%X3 =6007 o

N

N

~N

P

—y

K

~ T AT BA R gafe= 2004 600 =800 -
N ‘&311;4;@_;_&%%&%2:%:160’10
TN AT REAE g TEL160% o

O I BASTHEER L16404



.‘JaS 1.

T 39ps %'E

EX AN E R VLT FINEEE LIS SR LIS $:¢ 51
SPTISHE S562 T 2 TR A DTISME L6027 N | 4
FLL LG T o E 3BT 0

I * T 3o K fRAE

_ﬁp’_

fij#&%i*ﬂjiﬁ”*fr

FLELE A
(2) sIb4 #4594 =25-15=107

(3) 2F1H 4 R E ife= 56 x 25 = 14002 7 -
(4) FT} 7 83 W& fe= 60X 15=9002 7
(5) FIt L #3 4e chfo= 1400 — 900 = 5002 7 -

(1) FLt 44 nt ioph ¢ =

(6) 5Tt 443 chlipd="2=5027

&
63

FLb e B2 nTIoRE L5020 7 o

b

PerT b MR 53054 > HP 2008 984 > FAFFL chTnl 3

:

v

FENSaR?

1 14824 o o



&) 6. L FT e E

L 3al g L1610 A ¥

SESEEE S Y A
Eip I - Ao R0 N R
*n;}%\g\& I‘sl_p le——-@e?"‘mli—jp/rg! A% \/w\

(1)
(2)
(3)
(4)
(5)
(6)

(7

L5 e

33084 > HY 108 954 > Frrigd
g B4 chTiaiF 516504 0 3

T 3o 4L

B

BRI L B4 chTab 3 Lxo b o

>r18 4 &3 fr=161x30=4830= 4~ -

FIb§ B4 6 F ahfe= 165X 10 = 16502 A o

FTHLA B4 A 1=30—-10 =207 -

FIFA B4 P g afe=xx20=20x=24 o

Wiy M52 984 Lgafodsit L 54 D3 onfe=251814 £ 3
e 0 V- - = AR

1650 + 20x = 4830

F e N Sl

x = 159

FI A B4 chTmi g L1592 4 o

¥ 1. RFTPBE520084 > 29152 984 > 25843 mTagd
u
3

ST Py EAHTIOHEE S600 T
A
4027 o o

DA I LB T o



T AR AL

35 7. E'\b\ﬁ;lﬁ;&mliﬂﬂlr3116oél}’—5 P TR R

/\m-li"’p/rﬁ 1652 & °€§‘F\:H]:5 mp’ ng‘ VAN

st B

HfE D I TS AL

(1) " v ~A=z2BAEFofr=" v ¢ - A= BALeNTHEFX3 o
- 7~z A ZRAERAfr=160X3 =480 4 o

(2) 7 v A BAELFifo=" v oA BFANTHEFX2 o

- 7~z ARBALEPfr=165Xx2=33024 o

(3) Aehe =" v A=ZBAELFafr—" v oA BAELFaeo
- AP 3=480-330=150=4

2 pai g 15004 o

~

<

AEHRE G ZHEE )Y o L g wa S T #ih 804 o

PR H T Es AT R S AR TR E R

7
)

TSz EE )Y L6548 o




T AR AL

i ] 8. DAY v FAPTIE L6507 027 v v G2 (A
TR E L6020 T c R AR E L AT ? g

FfE L I - - X ESVRN
(1) *W%g\& r sL. J:5 E‘h’?ﬁ'iﬂi F‘;‘k NG I
- '&f'}:]:“’r m'gg r‘hxé 'T °
(2) ® ~ed B AMESfr=65x2=130= 17 -
(3) " vz "FZBAMES = (130+x)2 7 o

7 .z \ﬁgf[;k.ggi_ﬁq—fr

(5) ,}g;ﬁ%\l—ﬂ ~ T \ﬁgf1§4ﬁvli§7£’§§= 3 17’
?]E”" L - ﬂ—’ﬁi
130 + x
- 60
3
(6) fas = im0

E S %§Mmi¢wr%ﬁ»%’a%méﬁiﬁwiﬁiﬁﬁﬁémﬁ’
2w TS R T2A R e e P R
a9

P R yeE Yo 57848 o



T AR AL

F Y R A B804 B A HL T4
ﬁ‘igflé’\ﬁ”:é 764 ~ E] f’kﬁi&\ﬁ'{f—i 784 » ¢ R R 7st N ﬁ‘ﬁl’ﬁu‘?j
FEF BB AEF S RPT B DTS HST8

Ao HR Rl A BRSO 9

Fi* T2 &R

(1) RéeicF flardk=7 BAP @A —F & A pofliro
(2) I B P RHEA=78X5=3904A -

(3) WM~# A pef8Ar=80+74+76+78=308A -

(4) R4 ehiic 24 = 390 — 308 = 824 -

§ 1 L ehlc® fLA 5 824 o

A F - T HE )L EETIS D XL E8LA R = Xk

#2834 g RAFES e NI F [ FTRTBL B ] T T LK

5824 7

¥ Ak¥w ks ¥ 5854 -



TR AT

Fol10. F=xPF o pROET PAEITOS B P B 648
AL g fLa S 824 0 R iﬁﬁﬂ/’v\ﬁiﬁ 784 o & Arfp A T A MR
Eo A ALE A pARPT B TN L T4
A R IS A B E A7

L

R I - A- xR

(1) #458E TP iR g £ o8k B A
- 'FB‘?}: 1fE] /,hmﬁi:g %’Lé\%fa xA;\ o
(2) I Bfp it o=(76+64+82+78+x)4 °

I BRRA

(3) 1345 "7 B P T o0 =

P E- - 4R

5
B
IR _76+64+82+78+x
5
(4) fapt- ~- >58¢ F
- x=70

1 O MROEFPLELTOR

~

RY L AEHREFACES L R - KSR 4 TS L F S
T BT84 ~ Bz LB T64 R TS e TR

Ba o ww o) FhTms ] € £804 7

1 2 Yw i dE ] E 5924 o

10



TR AT

POl 7 v e ATl g L1500A » EASLFLT ~ o s

2t Tiol BRBELA WA NIF BN | g

22 SR L AR Gl A £ 5 (i

(1) #1HEE TFRpal g far

- BRpALF il o

(2) " ~eaBALFafe=150%x2=300=4 o
(3) ® v ~A=ZBAELFIHe=3004+x2 4 o

300+x
3

(4) = ~¢ \ﬁ'gi@;&ﬁ’:ii;jﬁx;g:( );}/,,\o

(5) 1TIBAR AL F I v  AZRBANTHEZEREF6D

300 + x
=———46

w

MY 1. @? A BAEE ] T NT A L804 > ER AN A Gl
P E B AT 00 BM2A o R R E il LA A

A9

<l

$0 I B m Y IGETTA -

11



T 35R 4L

Fol12. 7 A BAGTIEEF L14004  FA L F T LT
FZBAnTmb 3 REFANL CHRNANER IS | 4 g

_ﬁp’_

WE D I o A & eV R
(1) 755»?3]:5 B hx A 2 g \]:,'::f[;/\g’j’qi’i’—:l_é/r‘g ;f;\y;}
o

(2) RHBAER "pendF vt v o A= BANTHELZREF4D

(3) " ~eaBpAEgafe=140%x2=280=4 o
(4) 7 vz ~Aa=BALFafe=(280+x) 4 o
(5) ¥ TBEX? vo " FzBrnTHEbFiyns P PEZ A=

S A

£ pehi g L1462 4 o

Ry L MR- HT SR ARE ) T HTIO0 L8280 FRE ST NG 1L
A HT R EZ BTN ENES  FN R S T AL

A9

<l

iR ML S T30

12



